=SOShIIMURA

YOSHIMURA JAPAN CO., LTD. PRODUCT INSTALLATION INSTRUCTION MANUAL

Product information

HONDA MONKEY125 STREET SPORTS SLIP-ON GP-MAGNUM

Be sure to read the instruction carefully before starting the work. It is necessary to follow the contents to install
Yoshimura product.

1. Product Information :

Description HONDA Monkey125 Street Sports Slip-On GP-MAGNUM Cyclone Type H400SCI12
Stainless Sleeve (SS) : 180A-400-5X50 Main Material Stainless steel
Satin Finish Sleeve  (SSF) : 180A-400-5X30 ) (SS) & (SSF)  :2.4kg
Part Numb
A UMPE T itanium Blue Sleeve (STB) - 180A-400-5X808 e v L 5TB) 2.3kg
Carbon Sleeve (SC) : 180A-400-5X90 (SC) : 2.2kg
2. Applicable Model :
| Model | HONDA Monkey125
3. Contents:
No. Descriptions Part No. Q'ty |No. Descriptions Part No. Q'ty
1 | Tailpipe 115-400-5X00 1 | 6 | Washer M6x13 812-206-1310 2
Silencer Assy Stainless Sleeve 186-400-5X50 7 | Washer M8x26 812-108-2600 2
9 Silencer Assy Satin Finish Sleeve 186-400-5X30 1 8 | Flange Nut M6 823-006-1000 2
Silencer Assy Titanium Blue Sleeve 186-400-5X80B 9 | Grommet Rubber 553-565-0000 1
Silencer Assy Carbon Sleeve 186-400-5X90 10 | Grommet Spacer 850-208-1212 1
3 | Silencer Bracket 161-400-0210 1 | 11 | Spacer 8-26-30 850-008-26A4 1
4 | Cap Bolt M8x60 800-208-5060 1 | 12 | Exhaust Spring 118-001-0000 1
5 | Button Bolt M6x20 803-206-4020 2 |13 | Washer M8x18 812-208-1812 1
G , A\
Parts Diagram
SD#146 (Pre-installed)
Parts No. : 138-138-35E6
NS 7

200515

Monkey125 S.0 GP-M-3 1/5




